BYLAW NO. 715/09

BEING A BYLAW OF THE MACKENZIE COUNTY IN THE PROVINCE OF ALBERTA

TO AUTHORIZE THE RATES OF TAXATION TO BE LEVIED AGAINST ASSESSABLE PROPERTY WITHIN THE MACKENZIE COUNTY FOR THE 2009 TAXATION YEAR

WHEREAS, the Mackenzie County in the province of Alberta, has prepared and adopted detailed estimates of the municipal revenue, expenses and expenditures as required, at the Council meeting held on May 12, 2009; and

WHEREAS, the estimated municipal operating revenues from all sources other than property taxation total \$4,808,898; and

WHEREAS, the estimated municipal expenses (excluding non-cash items) and including requisitions set put in the annual budget for the Mackenzie County for 2009 total \$29,047,520; and the balance of \$24,238,622 is to be raised by general municipal property taxation; and

WHEREAS, the estimated amount required to repay principal debt to be raised by general municipal taxation is \$1,316,048; and

WHEREAS, the estimated amount required for current year capital expenditures to be raised by general municipal taxation is \$5,003,593; and

WHEREAS, the estimated amount required for future financial plans to be raised by municipal taxation is \$1,696,428; and

THEREFORE, the total amount to be raised by general municipal taxation is \$32,254,691; and

WHEREAS, the requisitions are:

Alberta School Foundation Fund Requisition:

	Base	Over/Under Levy	Total
Residential and Farmland	\$1,136,995	\$-9,826.22	\$1,125,850
Non-Residential	\$5,628,753	\$-327.27	\$5,628,360
Total	\$6,765,748	\$-10,153.49	\$6,754,210

Opted Out School Board:

	Base	Over/Under Levy	Total
Residential and Farmland	\$3,798	\$-32.86	\$3,766
Non-Residential	\$760	\$04	\$760
Total	\$4,558	\$-32.90	\$4,526

Total School	¢6 760 022	¢ 10 106 20	¢6 750 726
Requisitions	\$6,768,922	\$-10,186.39	\$6,758,736

Lodge Requisition:

	Base	Over/Under Levy	Total
Total Lodge Requisitions	\$568,212	\$-1,662.89	\$566,549

WHEREAS, the Council of the Mackenzie County is required each year to levy on the assessed value of all property, tax rates sufficient to meet the estimated expenses, expenditures and the requisitions; and

WHEREAS, the Council is authorized to classify assessed property, and to establish different rates of taxation in respect to each class of property, subject to the Municipal Government Act (MGA), Revised Statutes of Alberta, 2000, Chapter M-26; and

WHEREAS, the assessed value of all property in the Mackenzie County for school requisition and municipal purposes as shown on the assessment roll is:

Assessment:

Residential	\$415,950,480
Farmland	\$42,847,940
Non-Residential	\$1,933,177,590
Total	\$2,391,976,010

NOW THEREFORE, under the authority of the Municipal Government Act, the Council of the Mackenzie County in the Province of Alberta, enacts as follows:

1. That the Chief Administrative Officer is hereby authorized and directed to levy the following rates of taxation of the assessed value of all property as shown on the assessment roll of the Mackenzie County:

General Municipal	Tax Levy	Assessment	Tax Rate
Residential	\$2,952,416	\$415,950,480	0.007098
Farmland	\$304,135	\$42,847,940	0.007098
Non-Residential	\$21,672,855	\$1,933,177,590	0.011211
Total General Municipal	\$24,929,406	\$2,391,976,010	

Notwithstanding the foregoing, the minimum tax for:

Vacant Hamlet Residential shall be **\$200** (two hundred dollars). Vacant Hamlet Non-residential shall be **\$400** (four hundred dollars).

	Tax Levy	Taxable Assessment	Tax Rate
Alberta School Foundation Fund:			
Residential and Farmland	\$1,125,850	\$452,267,793	0.002489
Non-Residential	\$5,628,360	\$1,416,402,779	0.003974
Opted Out School:			
Residential and Farmland	\$3,766	\$1,512,656	0.002489
Non-Residential	\$760	\$191,310	0.003974
Exempt:			
Machinery & Equipment 100%	0	\$447,586,690	0.000000
Seniors Self Contain 100%	0	\$5,017,970	0.000000

Electric Power Generation 100%	0	\$68,996,810	0.000000
Total ASFF	6,758,736	\$2,391,976,008	
Lodge Requisition	\$566,549	\$2,391,976,008	0.000237

Grand Total	\$32,254,691
-------------	--------------

2. That this bylaw shall take effect on the date of the third and final reading.

READ a first time this 12th day of May, 2009.

READ a second time this 12th day of May, 2009.

READ a third time and finally passed this 12th day of May, 2009.

(original signed)
Greg Newman
Reeve
(original signed)

William Kostiw
Chief Administrative Officer